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WEST BENGAL STATE UNIVERSITY
B.A. Honours PART-II Examinations, 2016

PHILOSOPHY -HONOURS

PAPER-PHIA-III

Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. &% FN7 7297 WYMo ?‘7(‘7/7»’ faz g
Candidates should answer in their own words AT TR ST [ACed G [f7E 5FAnT
and adhere to the word limit as practicable. Y BGT PRI

Answer Question No. 1 and any five from the rest.

Y R TR G2 O (F-CF 250 draa Taa e

1. Answer any five questions within 150 words each. 5x5=25
@-FRS #5f5 2t TE AT IEE Seo *TH W e |

(a) Distinction between knowledge and opinion according to Plato.
(RTOR ST @I @ SfSuTea T AN A= |

(b) Briefly discuss any two arguments given by Aristotle against Plato’s Theory
of Ideas.

CRITDIA YIAAISTeR Rt SrifasHoe ewe @-@me b e FRTwie! Seba %4
(c) How many types of ideas are recognized by Descartes? Discuses briefly.
MRTE € ST LT T IR IRCFCH A T4 |
(d) Explain after Descartes, the Onlogical Argument for the existence of God.

(RFISCE Saa PR R WG Hle o7 fofess &M rm a1
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(e) Explain after Spinoza, the relation between God and the world.
PoTARIR TSN 47 GR TS 7o IR I |

(f) Give any two arguments with the help of which Locke refute the existence
of Innate ideas?

7 (T 39 Y& AT HLENS AR SEY SFBR I O T 10 I ami
T

(g) Discuss any two arguments given by Berkeley to reject the distinction
between primary and secondary qualities.

@ ¥] &7 fofere IR T @7 8 GTAeTR W& AT ST FERA ©OF
ey 0 HTA! e |

(h) Give a brief account of Hume’s Scepticism.
TRTC= FRHAITIM FRCTFLA NG et |

(1) Is Berkeley’s ‘Subjective Idealism’ solipcistic? Give reason for your answer.
IR oS SRAM fF oR FEFAM? 7R TSR Fors I ey

(j) Distinguish between Analytic and Synthetic judgments, after Kant.
FIBE PR (R RCITE 8 TRTATS TR W] AL T8

Answer any five questions within 600 words each.

@A-@WS 255 AT TER AT FH WA Yoo A Wy ey

2. What according to Plato is proper knowledge? How does he argue against
the view that sense-perception is proper knowledge?

R TS TS T Flp AT Lore T WiH-98 MR Reera o F N &
AT ITAN?

3. How does Descartes arrive at the principle, ‘I think, therefore I am’? Explain
the implications of this principle.

S e ‘wfy Huish, wou wift wfE’-92 ey Teiare Zrarg? «2 @t
TR Olesrd Fp RN I |

2104 2

15x5 =175

3+12

15



B.A./Part-1I/Hons/PHIA-I11/2016

2104

“God is all and all is God”. What does Spinoza mean to say by this
statement? Is the world unreal according to him? Discuss.

‘B3 T IR QR IR 17 -aR R wial Peiaren F QRITS Grarza? Tk
O TS ST TCEADA I |

What does Leibnitz mean by the principle of ‘Pre-established Harmony’?
What is the importance of this principle in his Metaphysics? Discuss.

AizfE o efeBe =Rerm e i @My o Stime @ Mz awg e
TS5 FFA |

What is Representative Realism? Discuss how Locke established
Representative Realism by means of his theory of ideas. Examine the view.

LSFANITIAM FIF A0 ? TS OIF YIAGCE AT ISIF R TOW 2AfSH FCaw?

. TS RO I |

On what grounds does Hume deny necessary connection betwecn cause and
effect? Discuss.

@R @F LEre BT IR ¢ IR W WREE 7o SFFR I S
I

What role does God play in Berkeley’s philosophy? Discuss fully.
T el SR ofiret e sfme Sicsvel I

How does Leibniz draw the distinction between the truths of reason and
truths of fact? How are these truths known according to him? Discuss.

EIG ISR (s TOTe! @ IR FEJOI T A ot Ty OiF WMo @
o) @feTrE T T FreIR? WA FF |
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10.

11.
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How does Kant define the a priori and the a posteriori judgments? What .

are the criteria of an a priori judgment? Are all a priori judgments analytic?
Discuss after Kant.

IS FeI 70 a8 oY TRURR T%4 (e 2. SRR
TMEDETH F 2 7 oj3: o saeraz & Reswae F1% (& SepRe 3 Sl
TF|

Explain the nature of “Copernican Revolution”. How does Kant bring about
this revolution in his philosophy? Is this claim justified? Discuss.

NI R T A FFw | IO O vl Freid @3 [e wfbrarzay @@
Wik & g9 weaAd 3741
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WEST BENGAL STATE UNIVERSITY
B.A. Honours PART-II Examinations, 2016

PHILOSOPHY-HONOURS

PAPER-PHIA-IV

Time Allotted: 4 Hours Full Marks: 100

The figures in the margin indicate full marks. Candidates should answer in their own words and adhere to
the word limit as practicable.

Answer Question No. 1 and any six taking two from each Group A, B, C.
> TR et gk fremt 7, @, w3kt It 76 T e oS =9 fo eoar Tew e
1. Answer any five questions from the following: 2x5 =10

fAefeRe @-@at o6 et Tas fw;

(a) Symbolized the following:
SIS TFw:
(i) p is the sufficient condition of q
p q-49% "fifT@ Lo
(ii) p if and only if q
p I @R @ IR g
(b) Why are all tautological statements logically equivalent to each other?
I TS T AR (T R (GO TS
(c) What is meant by ‘argument form’? Give one example.

& TR I A7 G Bwrgge et

2105 1 Turn Over



B.A./Part-11/Hons/PHIA-IV/2016

(d) Translate the following sentence into Boolean notation and then express it in
terms of Venn diagram.

All students are intelligent and all intelligent persons are philosophers.
e e T FiPs et 303 (eabEm T o T2
e R 2 I @R Fe I e 27wz
(e) What is a truth function?
FSJL2THF IS A0
(f) State the rule of Universal generalization.
e et G TS Trard I
(g) Why is truth tree method called a decision procedure?
HEP A OTE (o e 1af = zae
(h) Give the form of the Method of Residues.
AR o WP A |
(1) What is Ad Hoc Hypothesis?
(T & I I
() What is the Product Theorem of Probability?
HERTOIY B I IS A (JRA?

Group-A
rett-=

2. (a) Distinguish between exclusive and non-exclusive ‘disjunction’ with the help
of examples.
Trrzgerz ReRamt @ SR S/ar-a7 il o)
(b) Explain the following statement in brief:
“The negation of a tautology is a self contradictory.”
“qfb 78 379] IR fatan 46 7. iy A | —skeweet TFe g w1
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(c)

(d)

3. (a)

(b)

2105

Determine whether the following statement forms are tautologous, self
contradictory or contingent by means of truth table.

ASTARNE TRY N5 ISR 7o: 79, Fo: et 7t wieifes of fafa sz:
() [p2(@Vvnl=(p2g9)v(p>T)

(i) ~[(p 29)2(~9>~p)]

Test the validity of the following argument by truth table method:

If West Bengal suffers a severe drought then if Punjab has its-normal rainfall
then Hariyana’s water supply will be greatly reduced. Punjab does have its
normal rainfall. So if Hariyana’s water supply is greatly reduced then West
Bengal suffers a severe drought.

frsferfe e tauer serRe srafer s fda T
T A ARET 3 2 oI T AR FeiRe IRsire 27 oz R &

FRAAIE Y72 T A1 A TR JBMe T qoar I 2t eer e
U T 7 OISR 9 A

Construct formal proof of validity of the following arguments (Do not use
C.P.or1.P)

e Ifeafer wrere (arer e fis (C.P. 3t [.P. 3727 311 I 1)
(i) (Rv~R)oW/. .. W
(ii) A/..Bv~B

(iii) Socrates was a great philosopher. Therefore, either Socrates was happily
married or else he was not.

AFHH 9o [Rte wdfae e | Troud M e S 3 e,
IR fRge=

Prove the invalidity of the following arguments by the method of assigning
truth values.

HEJ T WCA @O R (WeAS Lol stauet & T
(i) Mo>(NVvO)

No(PvQ)

O oR

~(RV P) /oo~ M
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(i) (SvT)o(So~T)
(S o~T)o(T oK)

SvT /:..SDK

4. (a) What is counter example? Explain with examples. 4
TR FZHICA IF 38 P e |

(b) Use truth tree method to test the validity of the following arguments. 4+4

AR oiafe erate I A Fealem et o T
(i) (4eB)—C

—-A—>D

..B—>(CvD)

(i) We shall swim even if it rains. Therefore, we shall swim.

R e St Seta F164 1 F[@AR Rt Hota F16<

(c) Apply the truth tree method to determine whether the following set of 3
sentences is consistent.

TR *1afS At IR fnferiie AR i oo Rt fdact Fe:
-(Po Q)

-PoQ

L Poe-0

5. (a) Explain the method of Indirect proof as a method of proving an argument. 4
a3f% & e orafSmeet sitars i “afSH I w1

(b) Prove the validity of the following argument by L.P. 4

L.P. = e fsfais gfeha tauet e fae)
~X-Y)oT
YoT)oS
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(c) Use the method of conditional proof to prove the validity of the following
argument.

AT et oiafer Ry afkie gfeha tarer e %)
EoS

E>S(SoN)
SoO(NDF)
~EDF

(d) Use the method of Indirect Proof to verify that the following statement is a 3
tautology.

HATATF 2 AT FRTY 2N Fw @ [5faRe I 793 7))
A /..Bv(B>C()

Group-B
Rett-2

6. Test the validity of the following arguments by Venn diagram indicating the 5x3 =15
mood and figure of each of them.

2fefb7 ¥ ¢ MW Trwr I FufRe [Eobr csairaz Ry e [vm
IEA|

(a) No snakes fly. Some snakes lay eggs. So some creatures that lay eggs do not
fly.

I AE ST 711 7] Ao fOF 27T | [EIR @1 @1 & 731 fE¥ =N, ere A
(b) All bridge players are people. All people think. So all bridge players think.

F1 QS CATATAICE, 7T | 7 TIRZ BB | SR 7 e (AR Bt |
(c) All that glitters is not gold. This ring glitters. Hence, this ring is not gold.

TR 535(F T8 Gl 701 @2 WRB 535 a1 oAk @2 wrBH et w31
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7. (a) What is meant by ‘existential import’ of categorical prepositions? 5
fARTors I6TA9 SRS SieoR” FECe F @RI
(b) Explain why, according to modern logicians, AAI is not a valid mood. 4

sy FEReiN T @F AAT I (e 0ol e 2 71 ©f AR T

(c) Give Boolean interpretation of the following sentences and represent them  2x3=6
in Venn diagram.

fsferie armrefie g ffore awm 3@ cov fbrg e a2
(1) Mermaids do not exist.
TR WG 72
(ii) Nothings is both hot and cold.
I g2 QFM 91w @ Shat 73

(iii) Only citizens can buy land.

@I MeifFaR wfv [Face i)

8. (a) What are the two forms of general proposition? Give one example of each of 3
them.

FMI (General) 601 416 T2l F T &ATOTR03 QT I Gwrzde e
(b) Construct formal proof of validity for each of the following: 4x3 =12
e el werere tawer 2w fra:
(1) (x)[(Dxv Lx) oCx]
(x)(Ax> Ix)
(Ix)(Lx-~1Ix)
(3x) (Dx- Ax) / :.(3x)(Cx-Ix)

(ii) All citizens who are not traitors are present. All officials are citizens.
Some officials are not present. Therefore there are traitors.

e FsifFE T AR@R TT Okt TofEe it TS MR IfE T
AT | @I @I RN TAES (21 ToaI AFWRA SR

(iii) Socrates is mortal. Therefore everything is either mortal or not mortal.

HGH R AN | TOAR AL T TREATeT QLT TNt 773 |
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9. (a) Symbolize the following sentences by using quantifiers, variables, etc.
fasferie Arafene v, IfE Az g2 e adiee wwa)
(i) Any girl can win it and only if she is lucky.
- (A forers AR T @R (@3 7 (7 (et 3e) =1

(i1) Children and children alone are innocent.

firaa g% Proal? g facdfa)
(ii°) Everything is beautiful.

) g a1

(b) Determine the invalidity of the following arguments by the method of truth
value assignment.

HO) ) AR =1 (S YPeoraferm shaget & w1
(1)  (xX)[(Mx-Nx)>(Oxv Px)]

(x)[(Ox- Px)>(Ox v Rx)]

2 () [(Mxv Ox) D Rx]

(i1)) Some men are bohemians. Some men are artists. Therefore some artists
are bohemians.

IR (@1 T[T SR | @I I e Pt | ok @1w @1 P S
(iii) (3x)(Jx-Kx)
(x)(Jx>Lx) /..(3x)(Lx-Kx).

Group-C
Retat-ot

10.  Critically discuss Mill’s Joint Method of Agreement and Difference.

fitera ol TSR «1afS Rt wtesal 3=

11.  Distinguish between scientific and unscientific explanations. Discuss with
examples the seven stages of scientific method.

R@ife ¢ SEaS@E JRIR T i) IF7 | REF ofafer e w7 2wz
PRI FFA)

2105 7
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12.

13.

2105

Write short notes on the following:

fReferoafem v =fre b form:

(i) Necessary and sufficient condition of an event.
AR SR @ oriie =)

(i1) Mill’s method of Agreement.
Rrera s @ otafe)

Calculate the probability of the following cases:

fefeie crgoferm erRTel fAda wem:

(i) In drawing three cards in succession from a standard deck, what is the
probability of getting three hearts?

(a) If each card is replaced before the next draw.

(b) If the cards are not replaced.
G B AR SICR G (UE 17> foa b or gt fee, foaib wiriag zmen
A AR IRA 397

(a) T 2RI O (TR WMEst SERET SIS s Refara crezt =3

(b) 3 coten w1 Refara 71t rew 2@

(i) What is the probability of getting at least one head in three tosses of a
coin.

QT AN [ fATwe 03 Twes 1R (TS 2T TBR]S! T?
(iii) Suppose that, an urn contains 5 red balls, 10 white balls and 15 black

balls. If three balls are drawn at the same time, what is the probability
that they will be of the same colour?

@I 930 T e B oM 79, Sofb Mt 31 W=k vefd Fwen 77 =Ty af
E 9T 7 T 31 goreet o2 us aves @R TEIel F7

7.5+7.5

3x5 =15
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